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Degree (Part-1I) Exa.mination, 2024
(Veeational)
BBM
| Paper: Third |
Paper Code : 400703

Time : Three Hours| [Maximum Marks : 100

Note : Candidates are required to give their answers in their
own words as far as practicable. Attempt any five

questions selecting at least two from Group-A and two

from Group-B. Each question carries 20 marks.
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GROUP-A / §98-H

1. What is Financial Forccasting? Explain in detail ang

also prepare a proforma of it.

ol qafm & &7 forae & amengd oK 38 oy
§ qR HITY

2. From the following information extracted from the
book of Tiwari Ltd. for the year 2021-22, calculate

net cash flow from investing activitics.

Particulars 2020-21 2021-32
(%) (<)
Furniture 1,00.000 1,20,000
Machinery ~15,00,000 13.00,000
Building 20,00.000 19.20,000
_ Land (at cost) 18,00,000 16,000,000
|Investiment (long-term) 90,000 2.10.000

Additional information is given as follows :

(a)  Depreciation charged on furniture during the
year was % 10,000

(b)  Depreciation charged on machinery during the
year was T 25,000
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(c)  Machinery. the book value of which was
80,000 sold for * 75,000

(d) Land was sold at a profit of T 90,000

e fofes @ gws & & 7 FHeRied JEd |
9 2021-22 % R, Mg mffE § g TH51 Jaw

T AOET HRAT
2020-21 2021-22
Rae @ | @

HATET 1,00,000 1,20,000
He= 15,00,000|  18,00,000
AT 20,00,000[  19,80,000
A (AP W) 18,00,000(  16,00,000
ey (dmfaf) 90,000  2,10,000
AfefRa ST 36 JHR & B ©

@ af 3 A FHEd W T T gRE 9
% 10,000

(b) af & A FIHA W T T EEE o
% 25,000
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(c) WA R g e T 80,000 &, X 75,000
q 991 ™

(d) AT 90,000F & W IR T

3. Distinguish between Equity shares and Preference

shares capital.
SRt it IR T S o @ e S T

4. What is 'Ratio Analysis' ? Write any five formulae of

it mentioning its use.

‘I faemr = R ? e B da @ @l
ST arq gq fafm

5. Explain about different sources of industrial and

business finance.

N O N C P G
quEEal

GROUP-B / §e-3

6. What is receipts payments account? Why it is so
commonly used? -
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7. 'A', 'B' and 'C' are three partners sharing profits in the
ratio of'5 : 4 : 3 respectively. 'C retires and the goodwill
of'the firm is valued at ¥ 60,000. Assuming that 'A' and
'B' agree to share future profits in the ratio 7 : 5
respectively, pass an adjustment entry to credit retiring

partner with his share of goodwill. Show calculations

clearly.

'A','B' X 'C' I WRE) & S A 51403 % HPOE
% AW ded &1 'C Yaiga & @ oK BH &t e @
qediF T 60,000 &1 81 F8 "Ad 3¢ B A’ SR B
HI: 715D MU F ARG F JAD B A FA B
R Tewd €, Yaifga & @ T9ER &l FF L J 39D
@ 3 o & o guded gRfte o S o

me &g § Rad

8. What is the meaning of accounting? What are its

process?
AQiHT B T AT of ST UK R\ E7

9. .  Whatis'Double Entry System' ? How it is better from
the 'Single Entry System'?
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10.  Following is the trial balance of Guha constructions as

on 31st March 2020. Prepare a Profit & Loss Account

and the balance sheet from it :

Particulars L.F.|Amount (Dr.) Amout;t (Cr.)|
t4

Cash Account 20.30.000 v

Capital Account - 50,00.000

Bank Account 31.39,000 -

Purchase Account 24,00.000 a

Machinery Account 6,00,000 F

Computer Account 50,000 .

Sales Account = 32,00,000

D. Lal & Company (Creditors) - 12,50.000

M. Lal & Company (Debtors) 10.00,000 -

Furniture Account 1,50.000 -

Insurance Premium Account 20.000 -

Commission Received Account - 20,000

Drawing Account 40,000 -

Salary Account 25,000 -

Rent Account 16,000 -
94.70.000 94.70,000
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LE. |9 (Dr) |[BF(Cr) |
e z 4
TR Err 2030000, -
it @ ; 50,00,000
3% 31,39,000 !
P Gre 24,00,000 :
BT @ 6,00,000 .
SRME eI 50000 -
R @ A 32,00,000
. A N FIH (d=En) : 12,50,000
qH. A IR FY (3[2W) 10,00,000 :
HAER G 1,50,000 -
a1 g @ 20,000 -
AN T G E 20,000
BT @l 40,000 .
aq= @rai 25,000 -
ICTE | REIRL 16,000 .’
94,70,000| 94,70.000

W

THE END
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